Form 604 Corporations Act 2001 Section 671B

Notice of Change of Interests of Substantial Holder

To: **QANTM INTELLECTUAL PROPERTY LIMITED** ACN/ARSN:

1. Details of substantial holder (1)

Name: FIL Limited and the entities listed in Annexure A ("FIL") ACN/ARSN (if applicable)

There was a change in the interests of the substantial holder on The previous notice was given to the company on The previous notice was dated 16 April 2020 10 December 2019 10 December 2019

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of	Previous Notice	Previous Notice	Present Notice	Present Notice
Securities (4)	Person's votes	Voting Power (5)	Person's votes	Voting Power (5)
COMMON STOCK	12,589,871	9.46%	10,832,982	8.14%

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of Change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected
				COMMON STOCK	COMMON STOCK
01/23/2020	FIL	TRANSITION OUT	1.3600 AUD	316,341	316,341
02/24/2020	FIL	SELL	1.3022 AUD	5,790	5,790
02/24/2020	FIL	SELL	1.3022 AUD	7,395	7,395
02/25/2020	FIL	SELL	1.3007 AUD	9,925	9,925
02/26/2020	FIL	SELL	1.3000 AUD	1	1
03/09/2020	FIL	SELL	1.2500 AUD	778	778
03/10/2020	FIL	SELL	1.2500 AUD	479	479
03/11/2020	FIL	SELL	1.2500 AUD	307	307
03/24/2020	FIL	SELL	1.0042 AUD	7,497	7,497
03/26/2020	FIL	SELL	1.0116 AUD	11,324	11,324

			Total Movement	(1,756,889)	(1,756,889)
			Out		
			Total Transition	(316,341)	(316,341)
			Total Sells	(1,440,548)	(1,440,548)
04/16/2020	FIL	SELL	1.0002 AUD	19,150	19,150
04/16/2020	FIL	SELL	1.0002 AUD	10,511	10,511
04/16/2020	FIL	SELL	1.0002 AUD	3,749	3,749
04/16/2020	FIL	SELL	1.0000 AUD	258,082	258,082
04/16/2020	FIL	SELL	1.0000 AUD	141,658	141,658
04/16/2020	FIL	SELL	1.0000 AUD	50,532	50,532
04/16/2020	FIL	SELL	1.0000 AUD	6,054	6,054
04/16/2020	FIL	SELL	1.0000 AUD	3,323	3,323
04/16/2020	FIL	SELL	1.0000 AUD	1,186	1,186
04/15/2020	FIL	SELL	1.0000 AUD	11,079	11,079
04/08/2020	FIL	SELL	1.0000 AUD	3,018	3,018
04/07/2020	FIL	SELL	1.0000 AUD	6,799	6,799
04/07/2020	FIL	SELL	1.0000 AUD	3,732	3,732
04/07/2020	FIL	SELL	1.0000 AUD	1,395	1,395
04/07/2020	FIL	SELL	1.0000 AUD	1,360	1,360
04/07/2020	FIL	SELL	1.0000 AUD	766	766
04/07/2020	FIL	SELL	1.0000 AUD	279	279
04/06/2020	FIL	SELL	1.0074 AUD	22,831	22,831
04/06/2020	FIL	SELL	1.0074 AUD	12,532	12,532
04/06/2020	FIL	SELL	1.0074 AUD	8,270	8,270
04/03/2020	FIL	SELL	1.0002 AUD	63,218	63,218
04/03/2020	FIL	SELL	1.0002 AUD	34,700	34,700
04/03/2020	FIL	SELL	1.0002 AUD	12,720	12,720
04/03/2020	FIL	SELL	1.0000 AUD	629	629
04/03/2020	FIL	SELL	1.0000 AUD	345	345
04/03/2020	FIL	SELL	1.0000 AUD	126	126
04/02/2020	FIL	SELL	1.0121 AUD	105,019	105,019
04/02/2020	FIL	SELL	1.0121 AUD	57,644	57,644
04/02/2020	FIL	SELL	1.0121 AUD	21,130	21,130
04/01/2020	FIL	SELL	1.0103 AUD	83,601	83,601
04/01/2020	FIL	SELL	1.0103 AUD	45,888	45,888
04/01/2020	FIL	SELL	1.0103 AUD	16,820	16,820
03/31/2020	FIL	SELL	1.0427 AUD	201,758	201,758
03/31/2020	FIL	SELL	1.0427 AUD	110,742	110,742
03/31/2020	FIL	SELL	1.0427 AUD	40,593	40,593
03/30/2020	FIL	SELL	1.0325 AUD	1,061	1,061
03/30/2020	FIL	SELL	1.0325 AUD	582	582
03/30/2020	FIL	SELL	1.0325 AUD	213	213
03/30/2020	FIL	SELL	1.0159 AUD	9,490	9,490
03/30/2020	FIL	SELL	1.0159 AUD	5,209	5,209
03/30/2020	FIL	SELL	1.0159 AUD	1,910	1,910
03/27/2020	FIL	SELL	1.0325 AUD	733	733
03/27/2020	FIL	SELL	1.0325 AUD	402	402
03/27/2020	FIL	SELL	1.0325 AUD	147	147
03/27/2020	FIL	SELL	1.0186 AUD	9,180	9,180
03/27/2020	FIL	SELL	1.0186 AUD	5,039	5,039
03/27/2020	FIL	SELL	1.0186 AUD	1,847	1,847

4. Present Relevant Interest

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Refer to Annexure A

5. Changes in Association

The persons who have become associates (2) of, ceased to be associates of, or have changed the nature of their association (9) with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)Nature of associationN/A

6. Addresses

The addresses of persons named in this form are as follows:

Refer to Annexure A

Sign Here ___

Dated: 20 April 2020 Jen Li Head of Regulatory Reporting, Asia Pacific Duly authorized under Powers of Attorney by and on behalf of FIL Limited

Annexure A

Investment Manager	Address	Custodian	Nature of Relevant Interest	Sum of Numerator Shares
FIL INVESTMENT	Level 11, 167	HSBC BANK PLC (C)		3,628,296
MANAGEMENT	Macquarie Street,	JPMORGAN CHASE BANK		643,235
(AUSTRALIA) LIMITED	Sydney, NSW 2000,	NA LDN		0+3,235
	Australia	NATIONAL ASTL BK		256,144
		MELBOURNE (S)		230,144
		NORTHERN TRUST		71,687
		LONDON (C)		/1,08/
FIL INVESTMENT	8 Marina View,	BROWN BROS HARRIMN	Investment Discretion /	3,006,809
MANAGEMENT	#35-06, Asia Square	LTD LUX (C)	Voting Power	5,000,809
(SINGAPORE)	Tower 1, 018960,	JP MORGAN,		1,650,403
LIMITED	Singapore	BOURNEMOUTH (C)		1,050,405
		STATE STR BK AND TR		588,729
		CO LNDN (C		588,725
FIL RESPONSIBLE	Level 11, 167			
ENTITY (AUSTRALIA)	Macquarie Street,	JP MORGAN,		987,679
LIMITED	Sydney, NSW 2000,	BOURNEMOUTH (C)		387,075
	Australia			

Grand Total 10,832,982		Grand Total				10,832,982
------------------------	--	-------------	--	--	--	------------